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Warm Up

1)       18 ÷ 6 =

2)      12 ÷ 6 = 

3)      36 ÷ 6 =   

4)     48 ÷ 6 =   

5)      24 ÷ 6 =    

6)     42 ÷ 6  =   

7)      30 ÷ 6 =   

8)     60 ÷ 6 =   

9)     54 ÷ 6 =   

10)      ________  x 6 =  24

11)        ________ x 6 =  36 

12)       ________  x 6 =  48

1)     There are 48 students at a camp. Each of the 6 
cabins must sleep the same number of students. 
How many students are in each cabin?

2)     A florist wants to make 6 floral arrangements 
(each with the same number of flowers) from 66 
flowers. How many flowers  will be in each 
arrangement?

3)     42 comic books are shared equally between 6 
children. How many comic books does each child 
get?

4)     A 12 kg block of cheese is cut into 6 identical 
pieces. What is the weight of each piece of cheese?

5)    Lamar has 18 boxes of mangoes. If Lamar shares 
the mangoes equally between 6 friends , how many 
boxes will they each get?

6)    60 apples were divided equally into 6 boxes. How 
many apples will there be in each box?

7)     A 54 m long rope is cut into 6 equal pieces. 
How long is each piece of rope?

8)     For her birthday, Angelique placed 42 candies 
equally into 6 bags for her guests to take home. 
How many candies were in each bag?

9)     36 pencils were evenly distributed among 6 
table groups. How many pencils did each group 
get?

10)     Share 72 flowers equally between 6 people. 
How many flowers would each get?
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